WMON TROL
HORBEBRL

M

\FEINLE R BEATERTKE
AREDTE

BERER  BE8K - BERSTMEE
FE oo

BBELBEENNRIZRIZEEE - 7]
1 E_'f:l:'ﬂ:uin-l_

AMIZFE 2R A HEETE R TNE - RER
2E 2 Nk

GGGGGGﬁ

hs ed KA NEE - HESRET &
M E
fREM AR RN FTAARRERERERA
L
87 mm Single Stack : 87S % OJEEETE
87H4%-2.85-XXX
BUSR B iEE 87F4*%-2.85-XXX
3 2.5400
A Bl E87H4k-2.85-XXX = 3.1750
ZERT Single Stack / Bipolar / 1.8° Step Angle c 6.3500
TFER 2.85VDC Y 12.7000
B E 5.47 A Z 25.4000
SHER 0.520 XXX : BRI
SAHEER 2.86 mH
THERE#E 31.2W
HEIES 1760 g.cm?
BEER Class B(Class F available)
HiESSE 81 0z (2300g)
#Bi5 B 20MQ
............... ?&ﬂvstrﬂﬂ?l
GOO_Y 25400 3 | Lead Unit : mmirev I
»:j::_ 34750 [B | " Load Limit a0
%laoo 6.3500 1 g
I"200- 12.7000 7 1ooe
1001 25.4000 [Z ] 1500

0.5 1 15 2 25 3 35 4 45 5
(12.7) (254) (381) (508) (635) (76.2) (88.9) (101.6) (1143) (127.0)

Linear Velocity: in./sec. (mm/sec.)




R~

[5] X B8

(86.31 sQ. MAX) __(78.56 MAX) a
Ca ptlve ™~ 3.398 sQ. MAX — []7.40 MAX] r 3.093 MAX DIMENSION
[69.34x0.20] -685 MAX "B" MAX
2.730+.008 [38.52] [1.50+0.25] FULLY
SQUARE 0592010 RETRACTED
- .- [16.66] I |
q == ’ 656
[22.23] | I_
®.875 ——] [55_'682‘;]
EXTERNAL STOP WITH #7/16-14 UNC-2A [40.01]
(STANDARD INCH) OR M12 x 1.75-6g @1.575
[6.58:0.25] 0 %“EE"’W’}T'?RNMEE?% 76} OF SHOULDER
4X ©.259:.010 THRU [73'03-0.05 (MUST BE SPECIFIED WHEN ORDERING) D'[’AE,,N':'&N -—['9_.;321 A
¢2.s75f:ggg ) (3(:42.81111 '.;.7)
#20 AWG "£1/2"
LEAD WIRES \
Stroke Dim. "A" Dim."B" Suffix # | M12x1.75 Thread
0.500(12.7) | 1.225(31.12) 0(0) -905 -805
1.000(25.4) | 1.725(43.82) | 0.25(6.35) -910 -810 127%32)
1.500(38.1) | 2.225(56.52) | 0.75(19.05) | -915 815 12'51/8"
2.00(50.8) | 2.725(69.22) | 1.25(31.75) -920 -820
2.500(63.5) | 3.225(81.92) | 1.75(44.45) | -925 -825
= 7/ B
E\ ) - (86.31 sQ. MAX)_. (152.40+0.76) -]
Non-captive 3.398 5Q. MAX 6.0004.030
l«_(78.56 MAX)
[69.34+0.20] 3.093 MAX
257331'228 ol [1.50+0.25]
.059+.010
[17.96]
.707
L [15.88]
] ®.625
[9.98]
[6.58+0.25] [73-03.2_05] s — |- [304.af+12.7]
®.259+.010 THRU +000  #7/16-14 UNC-2A (STANDARD INCH) 12"1 /2"
¢2-375_ 002 OR M12 x 1.75-6g (STANDARD METRIC) THREAD T
. TO BE WITHIN .030 (0.76) OF SHOULDER
(MUST BE SPECIFIED WHEN ORDERING) [12.723.2]
#20 AWG " "
LEAD WIRES 1/2'£1/8

KIZAR R E R Bl I R~ e MR BB KR T 38X

S| i &

(86.31 SQ. MAX) -~ ['?Sﬁ’fg's"] 4
External = 3.398 5Q. MAX =] R (78.56 MAX)
[69.34+0.20] [1.5020.25] 3.093 MAX
2.730:.008 .059+.010 —=f=—
SQUARE .
L [15.88] I}
625 [ H —
EXTERNAL LINEAR NUT
[31.75] | [9.98] T
1.250 393 \
[6.58:0.25] — [28.58] (3?‘2‘:.&;];:7]
$.259+.010 THRU [57.15] ®1.125 £1/
= ©2.250 A
#20 AWG
LEADWIRES
3X ©.313 (7.95)ON [12.70] (12723.2)
©1.750 (44.45) BOLT CIRCLE =— .500 1/2"+1/8

KIEAR R B R Bl I R~ B M BB K AT 3K




